This question paper contains 5 printed pages. ]

2526 Your Roll No. ............... R

B.Sc. (G)./I/NS A
CHEMISTRY - Paper I
(Inorganic Chemistry)
(O.C. : Admissions of 2004 and before)

Time : 2 Hours Maximum Marks : 25

(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note:  Answers may be written either in English or in

Hindi; but the same medium should be used

throughout the paper.

oquft : 59 yeayy &7 3w 0 71 o faet o T
Ffr; ST avft Ferd #7 Hre v g g SR

Attempt four questions in all.
Question No. 1 is compulsory.
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1. (a) Why are electron affinity values of noble gases
taken as zero?
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(b) NH; has dipole moment but NF; has nearly zero
dipole moment, why ?

{c) NCI;s does not exist where as PCls exists. explain.
(d) Why O% is larger in size than isoelectronic F~ ?
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2. (a) First ionisation energy of Al is less than that of
Mg, but it is reverse in case of second IE, Explain.

(b) B has oxidation state + 3 where as Tl has + 1,
though they belong to the same group.

(¢c) BCl; is monomeric while AICl; is dimeric,
Comment. 2,22
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. (a) Write Schrodinger wave equation and explain the

terms involved.

(b) Uncertainty Principle does not apply to macro
particles, illustrate your answer.

(¢) Draw radial probability distribution curves for 3
and 3d orbitals. 2,22
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4. (a)

(b)
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5. (a)

(b)
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Explain giving reasons why Lewis acid strength of

BX; decreases in order:
BB]‘3 >BCly > BF;

Explain the strength of HNOs, HCI, H,SO,, HCIO,
tin CH; COOH and H-0.

Arrange the following in increasing order of acidic

character giving reasons :

HCIO, HCIO,, HCIO;, HCIO, 2,2,2
HI AT G AT FY 3 BX; F A avat-
yareral fohe R g w9 H e st 2 -

BBr; > BCl; > BF;

CH,COOH #R H,0 # HNO;, HCl, H,S0, 3R
HCIO, Y yaerarait T samean hifsm |

g fivae & adom we § fwfafea =
afe Fifse 3R Hro SR

- HCIO, HCIO;, HCIO;, HCIQ,

Using VSEPR theory, predict the shapes of the
following :
XeOF,,ICI;

Draw MO diagram for CQ. Calculate bond order.



(c) What is the difference between n-type and p-lype
semiconductors. Explain with suvitable examples.
2,22
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6. Write short notes on any two of the following :
(i) Born Haber Cycle
(ii) Fajan’s Rules
(iii) Hydrogen Bonding 3,3
Treforfian & & fonmgh < w wfire froaforrt Rerfaa
' (i) =43 =F
(i) wema-FrEg
(iti) BIESoH =
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